POLAR TIDE/PSI

Energy Flux

start time: 02/28/00 14:56:00 UT T o pm dveraged
stop time: 02/28/00 16:23:04 UT L 50
no spin averaging ranges used for average: N'g 4.5
collapse option 2 Obs.energy: 0.32 — 410.62 eV Z 4.0 [ Jno data
* sun pulse spin angle: 0.00° — 360.00° > 35

standby polar channels: 1 — 7 ? 3:0 Eno ents
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Hime 15:00 1510  15:20  15:30  15:40 1550  16:00  16:10  16:20  hremn
Re 33 3.0 7 2.4 2.1 1.8 1.7 1.7 1.8 Re
Lshell 9.1 6.1 41 2.8 2.1 .8 2.3 5.7 34.3
mit 0.6 1.0 1.2 15 18 21 25 33 6.3 hrs
mlat 53.4 46.3 37.4 26.0 1.1 82  -320 -575 -76.8 degs
inviat 70.6 66.2 60.5 53.6 46.1 42.0 48.5 65.2 80.2 degs
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